Installation should be fairly easy--the html help document has general install instructions towards the end as well.  UNIX is preferable over MS Windows simply because the command line operating system is easier to use and configure.  That said, it does run quite smoothly on MS Windows, but a few things in Tk are buggy and I haven’t figured out how to print directly.  (This requires printing the PostScript file to the printer or via an intermediate PDF.)  Except for printing the MS Windows inadequacies won’t be noticeable.  Hopefully Macintosh should be an option in the near future given OS X being a tasty flavor of UNIX.
To install the program and the example script:
1) Install Perl if not installed (most standard UNIX installs have all that is required).
a. For UNIX see www.perl.org, although for most UNIX computers Perl is part of the standard install. 
b. For MS Windows, try ActiveState Perl (http://www.activestate.com/Products/ActivePerl/ ). They have pre-compiled binary with easy installation of pre-compiled modules.
2) Uncompress the file parasight_v7.6.zip.  This will create the directory parasight_v7.6 . 
3) Directly within the parasight_v7.6 directory is the parasight executable, it should either be moved or linked into your bin path for ease of use.  On windows machines that have installed ActiveState the simplest solution is to place it in the Perl bin directory (usually C:\Perl\bin).   Parasight code no longer requires additional modules except for Perl/Tk, which is usually preinstalled with most Perl installations.
4) Check to see if parasight runs by typing parasight at a command line.  You should get a “brief” summary of the main options.
5) If it doesn’t work you may need to append the path so it points to the bin directory or install any modules such as Tk (for which you will receive a complaint).

6) Once you get parasight to run  (i.e. list it’s main options when run without any arguments), try changing to the examples directory.

7) Then type  parasight_examples1.pl –example 1.  (Running the program may require directly pointing to the program by typing a preceding ./parasight_examples1.pl .  This is a scripted tutorial that will demonstrate some parasight’s functions (particularly in regards to pairwise alignments).  This program won’t run unless it can find parasight (i.e. after you put it in a bin directory).  You need to execute parasight_examples1.pl in its directory so it can find the proper data.  

8) The other examples provide with further examples of parasight uses.  From viewing blast output to more complicated representations of various data forms from high copy repeats to BAC end placement.
Enjoy, Jeff

jab@case.edu
